## BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE CALDWELL CROSSING SECTION 6 BRAZORIA COUNTY MUNICIPAL UTILITY DISTRICT NO. 87 CITY OF IOWA COLONY, BRAZORIA COUNTY, TEXAS APRIL 23, 2024 LJA ENGINEERING, INC. C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	CITY OF IOWA COLONY, BRAZORIA APRIL 23, 2024 LJA ENGINEERING, INC. C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)	COUNTY, TEXAS		
BIDDER'S NAME	TOTAL AMOUNT BID TO	OTAL AMOUNT BID INCLUDING ALTERNATE BID NO. 1	TOTAL AMOUNT BID INCLUDING ALTERNATE BID NO. 2	
1) R CONSTRUCTION CIVIL, LLC	\$2,048,711.90 *	\$2,398,711.90 *	\$2,598,711.90 *	
2) DIMAS BROS. CONSTRUCTION	\$2,053,380.00 *	\$2,103,380.00 *	\$2,203,380.00 *	
3) CE BARKER LTD.	\$2,260,000.56 *	\$2,335,000.56 *	\$2,510,000.56 *	
4) BLAZEY CONSTRUCTION SERVICES LLC	\$2,284,257.66 *	\$2,394,257.66 *	\$2,534,257.66 *	
5) PRECISE SERVICES INC.	\$2,583,065.75 *	\$2,679,855.75 *	\$2,755,955.75 •	9
CALENDAR DAYS 85/105	*****	STATE OF TEXTO	6	



I, Abel Gallegos, P.E., hereby certify these bid tabulations to be true and correct.

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			CONSTRUCTION OF THE TO SERVE CALDWELL C BRAZORIA COUNTY MUN CITY OF IOWA COLONY, APRIL 23, 2024 LJA ENGINEERING, INC. C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)	ROSSING SECTION 6		IES & PAVING AND APP	PURTENANCES		
			1) R CONSTRUCT	ION CIVIL. LLC	2) DIMAS BROS. CO	ONSTRUCTION	3) CE BARKE	ER LTD.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
CALDWELL CROSSING SECTION 6 WATER SYSTEM ITEMS									
1 8" P.V.C. WATER PIPE, C-900, DR 18, CLASS 150, ALL DEPTHS (INCLUDING VALVES, FITTINGS, BEDDING, BACKFILL, VERTICAL BENDS, AND TESTING), COMPLETE IN PLACE	LF	2855	\$34.00	\$97,070.00	\$40.00	\$114,200.00	\$42.00	\$119,910.00	
2 8" P.V.C WATER PIPE, C-900, RESTRAINED JOINT SECTION (INCLUDES FITTINGS JOINTS AND VERTICAL OFFSET ASSEMBLY), COMPLETE IN PLACE	LF	107	\$44.00	\$4,708.00	\$43.00	\$4,601.00	\$45.00	\$4,815.00	
3 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	10	\$1,950.00	\$19,500.00	\$1,570.00	\$15,700.00	\$2,200.00	\$22,000.00	
4 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALV & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	E EA	8	\$6,500.00	\$52,000.00	\$6,435.00	\$51,480.00	\$7,550.00	\$60,400.00	
5 8" PLUG & CLAMP WITH 2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	I EA	1	\$750.00	\$750.00	\$884.00	\$884.00	\$1,250.00	\$1,250.00	
6 TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	2962	\$0.10	\$296.20	\$1.00	\$2,962.00	\$0.01	\$29.62	
7 REMOVE AND DISPOSE EXISTING PLUG & CLAMP AND CONNECT PROPOSED WATER LINE, (ALL SIZES), INCLUDES ALL NECESSARY ADAPTERS AND CONNECTORS, COMPLETE IN PLACE	EA	2	\$420.00	\$840.00	\$584.00	\$1,168.00	\$200.00	\$400.00	
8 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1481	\$20.00	\$29,620.00	\$20.00	\$29,620.00	\$20.00	\$29,620.00	
CALDWELL CROSSING SECTION 6 WATER SYSTEM ITEMS SUBTOTAL:				\$204,784.20		\$220,615.00		\$238,424.62	
CALDWELL CROSSING SECTION 6 SANITARY SEWER SYSTEM ITEMS									
1 8" PVC SEWER PIPE, ASTM D-2241 SDR 26, 0'-8' CUT, INCLUDES BEDDING & BACKFILL, COMPLETE IN PLACE	LF	2703	\$28.00	\$75,684.00	\$42.00	\$113,526.00	\$51.00	\$137,853.00	
2 8" PVC SEWER PIPE, ASTM D-2241 SDR 26, 8'-12' CUT, INCLUDES BEDDING & BACKFILL, COMPLETE IN PLACE	LF	190	\$30.00	\$5,700.00	\$46.00	\$8,740.00	\$54.00	\$10,260.00	
3 STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0' – 8' DEPTH), COMPLETE IN PLACE	EA	13	\$4,900.00	\$63,700.00	\$5,420.00	\$70,460.00	\$3,100.00	\$40,300.00	
4 FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	13	\$100.00	\$1,300.00	\$50.00	\$650.00	\$125.00	\$1,625.00	
5 EXTRA DEPTH OF SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE I PLACE	N VF	1	\$340.00	\$340.00	\$315.00	\$315.00	\$320.00	\$320.00	
6 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, STACK, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	25	\$1,400.00	\$35,000.00	\$1,330.00	\$33,250.00	\$1,500.00	\$37,500.00	
7 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, STACK, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	557	\$39.00	\$21,723.00	\$44.85	\$24,981.45	\$44.00	\$24,508.00	
8 8" STANDARD SANITARY SEWER DROP ON M.H. (2.0'), COMPLETE IN PLACE	EA	1	\$550.00	\$550.00	\$884.00	\$884.00	\$1,450.00	\$1,450.00	
9 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3450	\$20.00	\$69,000.00	\$20.00	\$69,000.00	\$20.00	\$69,000.00	
10 T.V. INSPECTION OF SANITARY SEWER LINES, ALL SIZES & DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2893	\$2.10	\$6,075.30	\$3.00	\$8,679.00	\$2.00	\$5,786.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				CONSTRUCTION OF TH TO SERVE CALDWELL ( BRAZORIA COUNTY MU CITY OF IOWA COLONY APRIL 23, 2024 LJA ENGINEERING, INC. C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)	CROSSING SECTION 6 NICIPAL UTILITY DISTR , BRAZORIA COUNTY, T		TIES & PAVING AND APF	PURTENANCES		
				1) R CONSTRUCT	ION CIVIL, LLC	2) DIMAS BROS. C	ONSTRUCTION	3) CE BARKE	ER LTD.	
ITEM DESCRIPT	ION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
11 TRENCH SAFETY SYSTEM, ALL SIZES & DEPT	THS, COMPLETE IN PLACE	LF	3450	\$0.10	\$345.00	\$1.00	\$3,450.00	\$0.01	\$34.50	
12 REMOVE AND OFFSITE DISPOSAL OF EXISTII PROPOSED 8" SANITARY SEWER, ALL DEPTH		EA	2	\$135.00	\$270.00	\$184.00	\$368.00	\$350.00	\$700.00	
13 BYPASS PUMPING FOR SANITARY CONNECT ONLY AT THE DIRECTION OF THE ENGINEER		DAY	5	\$2,300.00	\$11,500.00	\$250.00	\$1,250.00	\$800.00	\$4,000.00	
CALDWELL CROSSING SECTION 6 SANITARY SEWE	ER SYSTEM ITEMS SUBTOTAL:				\$291,187.30		\$335,553.45		\$333,336.50	
CALDWELL CROSSING SECTION 6 DRAINAGE FAC	ILITIES ITEMS									
1 24" R.C.P. STORM SEWER, ASTM C-76, CLASS BEDDING AND BACKFILL), COMPLETE IN PLA		LF	1752	\$76.00	\$133,152.00	\$87.00	\$152,424.00	\$100.00	\$175,200.00	
2 30" R.C.P. STORM SEWER, ASTM C-76, CLASS BEDDING AND BACKFILL), COMPLETE IN PLA		LF	735	\$97.00	\$71,295.00	\$104.75	\$76,991.25	\$120.00	\$88,200.00	
3 36" R.C.P. STORM SEWER, ASTM C-76, CLASS BEDDING AND BACKFILL), COMPLETE IN PLA		LF	131	\$136.00	\$17,816.00	\$142.30	\$18,641.30	\$160.00	\$20,960.00	
4 48" R.C.P. STORM SEWER, ASTM C-76, CLASS BEDDING AND BACKFILL), COMPLETE IN PLA		LF	260	\$218.00	\$56,680.00	\$224.80	\$58,448.00	\$250.00	\$65,000.00	
5 4' X 4' RCB, ALL DEPTHS, (INCLUDING BEDDI PLACE	NG AND BACKFILL), COMPLETE IN	LF	116	\$418.00	\$48,488.00	\$388.25	\$45,037.00	\$425.00	\$49,300.00	
6 JUNCTION BOX WITH TYPE "C" M.H. TOP, AS ALL DEPTHS, COMPLETE IN PLACE		EA	1	\$8,600.00	\$8,600.00	\$14,284.00	\$14,284.00	\$6,100.00	\$6,100.00	
7 STAGE I – REINFORCED CONCRETE "B-B" INL PROTECTION BARRIER FOR STAGE I INLETS;		EA	23	\$1,150.00	\$26,450.00	\$1,135.00	\$26,105.00	\$1,700.00	\$39,100.00	
8 STAGE II – REINFORCED CONCRETE "B-B" INI PROTECTION BARRIER FOR STAGE II INLETS		EA	23	\$2,900.00	\$66,700.00	\$2,105.00	\$48,415.00	\$1,550.00	\$35,650.00	
9 TYPE "E" INLET, ALL DEPTHS, COMPLETE IN I	PLACE	EA	2	\$2,700.00	\$5,400.00	\$2,100.00	\$4,200.00	\$3,200.00	\$6,400.00	
10 TYPE "C" MANHOLE FOR 42" STORM SEWER COMPLETE IN PLACE	AND SMALLER PIPE, ALL DEPTHS,	EA	19	\$3,100.00	\$58,900.00	\$3,400.00	\$64,600.00	\$3,550.00	\$67,450.00	
11 TYPE "C" MANHOLE FOR 48" STORM SEWER COMPLETE IN PLACE	AND LARGER PIPE, ALL DEPTHS,	EA	2	\$5,400.00	\$10,800.00	\$4,550.00	\$9,100.00	\$6,200.00	\$12,400.00	
12 FINAL ADJUSTMENT OF MANHOLE RIM ELEVA	ATIONS, COMPLETE IN PLACE	EA	22	\$100.00	\$2,200.00	\$50.00	\$1,100.00	\$150.00	\$3,300.00	
13 TRENCH SAFETY SYSTEM, ALL SIZES AND DE	EPTHS, COMPLETE IN PLACE	LF	2994	\$0.10	\$299.40	\$1.00	\$2,994.00	\$0.01	\$29.94	
14 REMOVE AND OFFSITE DISPOSAL OF EXISTII PROPOSED STORM SEWER, ALL SIZES, ALL		EA	1	\$600.00	\$600.00	\$384.00	\$384.00	\$600.00	\$600.00	
15 RE-GRADING OF DRAINAGE SWALE ALONG T PERIMETER OF THE SECTION, AS SHOWN IN POSITIVE DRAINAGE, 4:1 SIDE SLOPES, COM	THE GRADING PLAN, TO MAINTAIN	LF	1110	\$3.00	\$3,330.00	\$3.25	\$3,607.50	\$12.00	\$13,320.00	
16 RE-GRADING OF DRAINAGE SWALE ALONG 1 PERIMETER OF THE SECTION, AS SHOWN IN POSITIVE DRAINAGE, 4:1 SIDE SLOPES, COM	THE GRADING PLAN, TO MAINTAIN	LF	410	\$3.50	\$1,435.00	\$3.25	\$1,332.50	\$12.00	\$4,920.00	
17 DEWATERING SYSTEM FOR STORM SEWER PIPE (NO SEPARATE PAY DOUBLE ROW IF NI ONLY AT THE DIRECTION OF THE ENGINEER	EEDED), ALL DEPTHS, (TO BE USED	LF	2994	\$20.00	\$59,880.00	\$20.00	\$59,880.00	\$20.00	\$59,880.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				CONSTRUCTION OF TH TO SERVE CALDWELL BRAZORIA COUNTY ML CITY OF IOWA COLONY APRIL 23, 2024 LJA ENGINEERING, INC C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)	CROSSING SECTION 6 INICIPAL UTILITY DISTR (, BRAZORIA COUNTY,	RICT NO. 87	TIES & PAVING AND AP	PURTENANCES		
				1) R CONSTRUC	TION CIVIL, LLC	2) DIMAS BROS. C	CONSTRUCTION	3) CE BAR	KER LTD.	
ITEM DESCRIPTION		UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
18 EXIST. TYPE "C" ACCESS MANHOLE WITH TYPE INCLUDING THE SEALING OF EXISTING STORM F CONSTRUCTION PLANS, COMPLETE IN PLACE		EA	1	\$4,300.00	\$4,300.00	\$500.00	\$500.00	\$300.00	\$300.00	
19 ARTICULATED CONCRETE BLOCK OVERFLOW S VARIES. INCLUDES FILTER FABRIC GEOTEXTILE INTERLOCKING PAVERS, GRADING AND COMPA CONSTRUCTION PLANS & SPECIFICATION, WITH BURIED WITH 6-INCHES OF TOPSOIL, INCLUDING SLOPE PAVING, COMPLETE IN PLACE	MATERIAL LINING, CONCRETE CTION AND TURN DOWN PER 1 6:1 MAX SIDE SLOPES, TO BE	SY	510	\$125.00	\$63,750.00	\$75.00	\$38,250.00	\$135.00	\$68,850.00	
CALDWELL CROSSING SECTION 6 DRAINAGE FACILITI	ES ITEMS SUBTOTAL:				\$640,075.40		\$626,293.55		\$716,959.94	
CALDWELL CROSSING SECTION 6 WS&D MISCELLAN	EOUS ITEMS									
1 METHOD "A" WS&D CONSTRUCTION STAKING A (CONTACT JON BORDOVSKY AT 281.499.4539.),		LS	1	\$10,316.00	\$10,316.00	\$10,316.00	\$10,316.00	\$10,316.00	\$10,316.00	
2 WATER, SANITARY SEWER, AND STORM SEWER LOT FILL PER THE GRADING PLAN, INCLUDES E (TO BE USED ONLY AT THE DIRECTION OF THE I	XCAVATION, HAULING, PLACING,	CY	6000	\$1.00	\$6,000.00	\$3.00	\$18,000.00	\$3.00	\$18,000.00	
3 SILT FENCE INLET PROTECTION BARRIERS, SW (TO BE USED ONLY AS DIRECTED BY THE ENGIN		EA	26	\$50.00	\$1,300.00	\$10.00	\$260.00	\$75.00	\$1,950.00	
4 INSTALLATION, MAINTENANCE & REMOVAL OF S SWMHCA SPECIFICATION NO. 4711, (TO BE USE THE ENGINEER), COMPLETE IN PLACE	TABILIZED CONSTRUCTION EXIT, D ONLY AT THE DIRECTION OF	EA	1	\$1,500.00	\$1,500.00	\$650.35	\$650.35	\$2,500.00	\$2,500.00	
5 INSTALLATION, MAINTENANCE, AND REMOVAL O FENCE SWMHCA SPECIFICATIONS NO.4311, (TO THE ENGINEER), COMPLETE IN PLACE		LF	3900	\$2.00	\$7,800.00	\$0.10	\$390.00	\$3.00	\$11,700.00	
6 PERMIT FEE AS REQUIRED BY CITY OF IOWA CO	DLONY, COMPLETE IN PLACE	LS	1	\$11,500.00	\$11,500.00	\$12,375.00	\$12,375.00	\$16,000.00	\$16,000.00	
7 STORM WATER POLLUTION PREVENTION PLAN CONTRACTOR BOOKLET, NOI AND NOT, COMPL		LS	1	\$1,100.00	\$1,100.00	\$400.00	\$400.00	\$1,000.00	\$1,000.00	
8 CEMENT STABILIZED SAND (TO BE USED ONLY COMPLETE IN PLACE	AS DIRECTED BY THE ENGINEER),	СҮ	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00	
9 PIPELINE CROSSING TO INCLUDE TEMPORARY TRANSFER GUIDELINES AND CROSSING AGREE WITH PIPELINE COMPANY. COMPLETE IN PLACE	MENT, INCLUDES COORDINATION	EA	1	\$18,000.00	\$18,000.00	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00	
CALDWELL CROSSING SECTION 6 WS&D MISCELLANE	OUS ITEMS SUBTOTAL:				\$63,516.00		\$49,391.35		\$75,966.00	
CALDWELL CROSSING SECTION 6 PAVING AND APPU	RTENANCES IMPROVEMENT ITEM	s								
1 6" REINFORCED CONCRETE PAVEMENT, COMPL	ETE IN PLACE	SY	10250	\$50.00	\$512,500.00	\$55.10	\$564,775.00	\$52.00	\$533,000.00	
2 6" REINFORCED CONCRETE CURB, COMPLETE I	N PLACE	LF	2230	\$3.60	\$8,028.00	\$3.60	\$8,028.00	\$4.00	\$8,920.00	
3 4" X 12" REINFORCED CONCRETE CURB, COMPL	ETE IN PLACE	LF	3880	\$3.60	\$13,968.00	\$3.60	\$13,968.00	\$4.00	\$15,520.00	
4 8" LIME STABILIZED SUBGRADE, INCLUDES COM PROCTOR DENSITY, COMPLETE IN PLACE	IPACTION TO 95% STANDARD	SY	10925	\$4.00	\$43,700.00	\$4.20	\$45,885.00	\$3.50	\$38,237.50	
5 LIME FOR SUBGRADE PREPARATION (7% BY WE BY SOIL CONDITIONS AND APPROVED BY GEOT IN PLACE		TON	262	\$330.00	\$86,460.00	\$325.00	\$85,150.00	\$390.00	\$102,180.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			CONSTRUCTION OF THE TO SERVE CALDWELL C BRAZORIA COUNTY MUT CITY OF IOWA COLONY, APRIL 23, 2024 LJA ENGINEERING, INC. C. DURHAM APRIL 23, 2024 1931-8156A&B (9.2)	ROSSING SECTION 6		IES & PAVING AND APP	PURTENANCES		
			1) R CONSTRUCT		2) DIMAS BROS. CO		3) CE BARKE		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
6 COMMON ROADWAY EXCAVATION TO BE USED FOR ONSITE ROADWAY, LOT FILL AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	6950	\$3.50	\$24,325.00	\$5.00	\$34,750.00	\$3.50	\$24,325.00	
7 TYPE 7 ADA WHEELCHAIR RAMPS, PER REGULATORY AGENCY REQUIREMENTS, INCLUDES LANDIND AT THE TOP OF RAMP AND REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	10	\$1,800.00	\$18,000.00	\$1,400.00	\$14,000.00	\$1,500.00	\$15,000.00	
8 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$7,900.00	\$7,900.00	\$5,200.00	\$5,200.00	\$5,900.00	\$5,900.00	
9 FINAL LOT GRADING, INCLUDING RESERVES, STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	64	\$195.00	\$12,480.00	\$200.00	\$12,800.00	\$230.00	\$14,720.00	
10 REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	ΈA	2	\$1.00	\$2.00	\$1.00	\$2.00	\$400.00	\$800.00	
11 INSTALL TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00	\$1,250.00	\$1,250.00	
12 6° PVC IRRIGATION SLEEVE, PLACED UNDER THE PAVEMENT FOR FUTURE IRRIGATION, AS DIRECTED BY OWNER OR OWNER, COMPLETE IN PLACE	LF	350	\$35.00	\$12,250.00	\$32.00	\$11,200.00	\$30.00	\$10,500.00	
13 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	28	\$25.00	\$700.00	\$30.00	\$840.00	\$110.00	\$3,080.00	
14 HYDRO-MULCH SEEDING OF RIGHT-OF-WAYS AND MEDIANS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	4	\$1,500.00	\$6,000.00	\$100.00	\$400.00	\$1,950.00	\$7,800.00	
15 BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	13	\$650.00	\$8,450.00	\$50.00	\$650.00	\$750.00	\$9,750.00	
CALDWELL CROSSING SECTION 6 PAVING AND APPURTENANCES IMPROVEMENT ITEMS	3			\$755,963.00		\$798,948.00		\$790,982.50	
CALDWELL CROSSING SECTION 6 PAVING MISCELLANEOUS ITEMS 1 METHOD "A" PAVING CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P. (CONTACT JON BORDOVSKY AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$5,266.00	\$5,266.00	\$5,266.00	\$5,266.00	\$5,266.00	\$5,266.00	
2 INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, STAGE I (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$50.00	\$1,300.00	\$10.00	\$260.00	\$75.00	\$1,950.00	
3 INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE (BACK OF CURB) SWMHCA SPECIFICATIONS NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE		6005	\$2.00	\$12,010.00	\$0.10	\$600.50	\$3.00	\$18,015.00	
4 INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$447.15	\$447.15	\$800.00	\$800.00	
5 5' REINFORCED CONCRETE SIDEWALK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2230	\$27.00	\$60,210.00	\$1.00	\$2,230.00	\$30.00	\$66,900.00	
6 FINAL LOT GRADING AS-BUILT SURVEYS TO VERIFY LOT GRADING DETAIL. SEE LOT GRADING DETAIL ON SHEET 10 OF 26 OF CONSTRUCTION PLAN, COMPLETE IN PLACE	LS	1	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	
7 PERMIT FEE AS REQUIRED BY CITY OF IOWA COLONY, COMPLETE IN PLACE	LS	1	\$11,500.00	\$11,500.00	\$11,375.00	\$11,375.00	\$9,000.00	\$9,000.00	
CALDWELL CROSSING SECTION 6 PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$93,186.00		\$22,578.65		\$104,331.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				TO SERVE CALDWELL O BRAZORIA COUNTY MUI		Г NO. 87	TIES & PAVING AND APPU	RTENANCES	
				1) R CONSTRUCT	ION CIVIL, LLC	2) DIMAS BROS. C	ONSTRUCTION	3) CE BARK	ER LTD.
ITEM	DESCRIPTION	UNIT C	ΩTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE BID ITEMS NO. 1									
WITHIN 70 DAYS AND TO ACH WITHIN 90 DAYS PER THE SPI AWARDED ALTERNATE BID N OWNER IN THE AMOUNT OF \$	VE SUBSTANTIAL COMPLETION OF BASE BID WORK IEVE FINAL COMPLETION OF BASE BID WORK ECIAL CONDITIONS OF THE CONTRACT, IF 0. 1, THE CONTRACTOR SHALL BE LIABLE TO 2,500.00/DAY FOR EACH DAY THE CONTRACTOR IS TACT SUBSTANTIAL COMPLETION, AS ADJUSTED BY PLETE IN PLACE	LS	1	\$350,000.00	\$350,000.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00
ALTERNATE BID ITEMS NO. 1 SUBT	DTAL:				\$350,000.00		\$50,000.00		\$75,000.00
ALTERNATE BID ITEMS NO. 2									
WITHIN 55 DAYS AND TO ACH WITHIN 75 DAYS PER THE SPI AWARDED ALTERNATE BID N OWNER IN THE AMOUNT OF \$	VE SUBSTANTIAL COMPLETION OF BASE BID WORK IEVE FINAL COMPLETION OF BASE BID WORK ECIAL CONDITIONS OF THE CONTRACT, IF 0.2, THE CONTRACTOR SHALL BE LIABLE TO 5,000.00/DAY FOR EACH DAY THE CONTRACTOR IS IACT SUBSTANTIAL COMPLETION, AS ADJUSTED BY PLETE IN PLACE	LS	1	\$550,000.00	\$550,000.00	\$150,000.00	\$150,000.00	\$250,000.00	\$250,000.00
ALTERNATE BID ITEMS NO. 2 SUBTO	DTAL:				\$550,000.00		\$150,000.00		\$250,000.00
BIDDING SUMMARY									
SUBTOTAL CALDWELL CROSSING S	ECTION 6 WATER SYSTEM ITEMS				\$204,784.20		\$220,615.00		\$238,424.62
SUBTOTAL CALDWELL CROSSING S	ECTION 6 SANITARY SEWER SYSTEM ITEMS				\$291,187.30		\$335,553.45		\$333,336.50
SUBTOTAL CALDWELL CROSSING S	ECTION 6 DRAINAGE FACILITIES ITEMS				\$640,075.40		\$626,293.55		\$716,959.94
SUBTOTAL CALDWELL CROSSING S	ECTION 6 WS&D MISCELLANEOUS ITEMS				\$63,516.00		\$49,391.35		\$75,966.00
SUBTOTAL CALDWELL CROSSING S	ECTION 6 PAVING AND APPURTENANCES IMPROVE	MENT ITEMS			\$755,963.00		\$798,948.00		\$790,982.50
SUBTOTAL CALDWELL CROSSING S	ECTION 6 PAVING MISCELLANEOUS ITEMS				\$93,186.00		\$22,578.65		\$104,331.00
TOTAL AMOUNT BASE BID					\$2,048,711.90 *		\$2,053,380.00 *		\$2,260,000.56 *
ALTERNATE BID NO. 1									
TOTAL AMOUNT BASE BID					\$2,048,711.90		\$2,053,380.00		\$2,260,000.56
ALTERNATE BID ITEMS NO. 1 SUBTO	DTAL:				\$350,000.00		\$50,000.00		\$75,000.00
TOTAL AMOUNT BID INCLUDING ALT	TERNATE BID NO. 1				\$2,398,711.90 *		\$2,103,380.00 *		\$2,335,000.56 *
ALTERNATE BID NO. 2									
TOTAL AMOUNT BASE BID					\$2,048,711.90		\$2,053,380.00		\$2,260,000.56
ALTERNATE BID ITEMS NO. 2 SUBTO	DTAL:				\$550,000.00		\$150,000.00		\$250,000.00
TOTAL AMOUNT BID INCLUDING ALT	FERNATE BID NO. 1				\$2,598,711.90 *		\$2,203,380.00 *		\$2,510,000.56 *

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY:		TO BRJ CIT API LJA	SERVE CALDWELL C AZORIA COUNTY MUN	WATER, SANITARY SE ROSSING SECTION 6 IICIPAL UTILITY DISTRIC BRAZORIA COUNTY, TE	CT NO. 87	IES & PAVING AND APPUI	RTENANCES
TABULATION DATE:			RIL 23, 2024				
LJA JOB NO.			31-8156A&B (9.2)		5) PRECISE SEF		
ITEM DESCRIPTION	UNIT	4) QTY	BLAZEY CONSTRUCT	TOTAL COST	UNIT COST	TOTAL COST	
CALDWELL CROSSING SECTION 6 WATER SYSTEM ITEMS	ONIT	QII				TOTAL COOT	
1 8" P.V.C. WATER PIPE, C-900, DR 18, CLASS 150, ALL DEPTHS (INCLUDING VALVES, FITTINGS, BEDDING, BACKFILL, VERTICAL BENDS, AND TESTING), COMPLETE IN PLACE	LF	2855	\$35.00	\$99,925.00	\$50.00	\$142,750.00	Inc.
2 8" P.V.C WATER PIPE, C-900, RESTRAINED JOINT SECTION (INCLUDES FITTINGS JOINTS AND VERTICAL OFFSET ASSEMBLY), COMPLETE IN PLACE	LF	107	\$54.00	\$5,778.00	\$70.00	\$7,490.00	
3 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	10	\$1,800.00	\$18,000.00	\$2,250.00	\$22,500.00	
4 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVI & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	E EA	8	\$7,000.00	\$56,000.00	\$8,500.00	\$68,000.00	
5 8" PLUG & CLAMP WITH 2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,750.00	\$1,750.00	
6 TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	2962	\$0.11	\$325.82	\$1.00	\$2,962.00	-
7 REMOVE AND DISPOSE EXISTING PLUG & CLAMP AND CONNECT PROPOSED WATER LINE, (ALL SIZES), INCLUDES ALL NECESSARY ADAPTERS AND CONNECTORS, COMPLETE IN PLACE	EA	2	\$590.00	\$1,180.00	\$700,00	\$1,400.00	
8 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1481	\$20.00	\$29,620.00	\$25.00	\$37,025.00	
CALDWELL CROSSING SECTION 6 WATER SYSTEM ITEMS SUBTOTAL:				\$212,028.82		\$283,877.00	
CALDWELL CROSSING SECTION 6 SANITARY SEWER SYSTEM ITEMS							
1 8" PVC SEWER PIPE, ASTM D-2241 SDR 26, 0'-8' CUT, INCLUDES BEDDING & BACKFILL, COMPLETE IN PLACE	LF	2703	\$38.00	\$102,714.00	\$45.00	\$121,635.00	
2 8" PVC SEWER PIPE, ASTM D-2241 SDR 26, 8'-12' CUT, INCLUDES BEDDING & BACKFILL, COMPLETE IN PLACE	LF	190	\$42.00	\$7,980.00	\$53.00	\$10,070.00	
3 STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0' – 8' DEPTH), COMPLETE IN PLACE	EA	13	\$4,000.00	\$52,000.00	\$5,250.00	\$68,250.00	
4 FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	13	\$60.00	\$780.00	\$275.00	\$3,575.00	
5 EXTRA DEPTH OF SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE II PLACE	N VF	1	\$300.00	\$300.00	\$275.00	\$275.00	
6 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, STACK, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	25	\$1,600.00	\$40,000.00	\$1,800.00	\$45,000.00	
7 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, STACK, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	557	\$49.00	\$27,293.00	\$55.00	\$30,635.00	
8 8" STANDARD SANITARY SEWER DROP ON M.H. (2.0'), COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,350.00	\$1,350.00	
9 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3450	\$20.00	\$69,000.00	\$25.00	\$86,250.00	
10 T.V. INSPECTION OF SANITARY SEWER LINES, ALL SIZES & DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2893	\$3.00	\$8,679.00	\$3.00	\$8,679.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		TO BR CIT AP LJ/ C.   AP	SERVE CALDWELL C	E WATER, SANITARY SE ROSSING SECTION 6 NICIPAL UTILITY DISTRIC BRAZORIA COUNTY, TE	CT NO. 87	IES & PAVING AND APPUF	RTENANCES
		4)	BLAZEY CONSTRUCT	TION SERVICES LLC	5) PRECISE SEF	RVICES, INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
11 TRENCH SAFETY SYSTEM, ALL SIZES & DEPTHS, COMPLETE IN PLACE	LF	3450	\$0.11	\$379.50	\$1.00	\$3,450.00	
12 REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNEC PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	T EA	2	\$220.00	\$440.00	\$500.00	\$1,000.00	
13 BYPASS PUMPING FOR SANITARY CONNECTION AS NECESSARY, (TO I ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	BE USED DAY	5	\$1,000.00	\$5,000.00	\$3,000.00	\$15,000.00	InC.
CALDWELL CROSSING SECTION 6 SANITARY SEWER SYSTEM ITEMS SUBTO	TAL:			\$315,765.50		\$395,169.00	
CALDWELL CROSSING SECTION 6 DRAINAGE FACILITIES ITEMS				,			
1 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, (INCLUE BEDDING AND BACKFILL), COMPLETE IN PLACE	DING LF	1752	\$81.00	\$141,912.00	\$115.00	\$201,480.00	7
2 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, (INCLUE BEDDING AND BACKFILL), COMPLETE IN PLACE	DING LF	735	\$102.00	\$74,970.00	\$137.50	\$101,062.50	
3 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, (INCLUE BEDDING AND BACKFILL), COMPLETE IN PLACE	DING LF	131	\$142.00	\$18,602.00	\$187.50	\$24,562.50	
4 48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, (INCLUE BEDDING AND BACKFILL), COMPLETE IN PLACE	DING LF	260	\$238.00	\$61,880.00	\$305.50	\$79,430.00	
5 4' X 4' RCB, ALL DEPTHS, (INCLUDING BEDDING AND BACKFILL), COMP PLACE	LETE IN LF	116	\$397.00	\$46,052.00	\$465.00	\$53,940.00	
6 JUNCTION BOX WITH TYPE "C" M.H. TOP, AS SHOWN IN CONSTRUCTIO ALL DEPTHS, COMPLETE IN PLACE	N PLANS, EA	1	\$7,100.00	\$7,100.00	\$9,000.00	\$9,000.00	
7 STAGE I – REINFORCED CONCRETE "B-B" INLET, ALL DEPTHS, (INCLUE PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	DES INLET EA	23	\$1,650.00	\$37,950.00	\$2,200.00	\$50,600.00	
8 STAGE II – REINFORCED CONCRETE "B-B" INLET, ALL DEPTHS, (INCLUT PROTECTION BARRIER FOR STAGE II INLETS), COMPLETE IN PLACE	DES INLET EA	23	\$2,300.00	\$52,900.00	\$2,250.00	\$51,750.00	
9 TYPE "E" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00	\$4,250.00	\$8,500.00	
10 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER PIPE, ALL I COMPLETE IN PLACE	DEPTHS, EA	19	\$3,350.00	\$63,650.00	\$5,150.00	\$97,850.00	
11 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER PIPE, ALL DI COMPLETE IN PLACE	EPTHS, EA	2	\$6,000.00	\$12,000.00	\$8,500.00	\$17,000.00	
12 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLA	ACE EA	22	\$55.00	\$1,210.00	\$275.00	\$6,050.00	
13 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLA	CE LF	2994	\$0.11	\$329.34	\$1.00	\$2,994.00	
14 REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CC PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PL		1	\$480.00	\$480.00	\$3,500.00	\$3,500.00	
15 RE-GRADING OF DRAINAGE SWALE ALONG THE BACK OF LOTS ON TH PERIMETER OF THE SECTION, AS SHOWN IN THE GRADING PLAN, TO I POSITIVE DRAINAGE, 4:1 SIDE SLOPES, COMPLETE IN PLACE		1110	\$3.30	\$3,663.00	\$10.50	\$11,655.00	
16 RE-GRADING OF DRAINAGE SWALE ALONG THE BACK OF LOTS ON TH PERIMETER OF THE SECTION, AS SHOWN IN THE GRADING PLAN, TO I POSITIVE DRAINAGE, 4:1 SIDE SLOPES, COMPLETE IN PLACE		410	\$3.30	\$1,353.00	\$10.50	\$4,305.00	
17 DEWATERING SYSTEM FOR STORM SEWER INSTALLATION PER LINEA PIPE (NO SEPARATE PAY DOUBLE ROW IF NEEDED), ALL DEPTHS, (TO ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		2994	\$20.00	\$59,880.00	\$20.00	\$59,880.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATIC TABULATION BY: TABULATION DATE: LJA JOB NO.			T( Bi Ai L C Ai	O SERVE CALDWELL ( RAZORIA COUNTY MUI	CROSSING SECTION 6 NICIPAL UTILITY DISTRI , BRAZORIA COUNTY, T	ICT NO. 87	ITIES & PAVING AND APPUI	RTENANCES
			4	4) BLAZEY CONSTRUC	TION SERVICES LLC	5) PRECISE SE	ERVICES, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
INCLUDING THE	ACCESS MANHOLE WITH TYPE "E" INLET TO BE REMOVED, SEALING OF EXISTING STORM PIPE OPENING, AS SHOWN IN PLANS, COMPLETE IN PLACE	EA	1	\$1,100.00	\$1,100.00	\$3,350.00	\$3,350.00	1nC+
VARIES. INCLUDI INTERLOCKING F CONSTRUCTION BURIED WITH 6-1	ONCRETE BLOCK OVERFLOW SWALE, 6' WIDE BOTTOM, DEPTH ES FILTER FABRIC GEOTEXTILE MATERIAL LINING, CONCRETE ?AVERS, GRADING AND COMPACTION AND TURN DOWN PER PLANS & SPECIFICATION, WITH 6:1 MAX SIDE SLOPES, TO BE NCHES OF TOPSOIL, INCLUDING CONNECTION TO EXISTING COMPLETE IN PLACE	SY	510	\$127.00	\$64,770.00	\$105.00	\$53,550.00	
CALDWELL CROSSING	SECTION 6 DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$655,401.34		\$840,459.00	
CALDWELL CROSSING	SECTION 6 WS&D MISCELLANEOUS ITEMS							
	&D CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P. 30RDOVSKY AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$10,316.00	\$10,316.00	\$10,316.00	\$10,316.00	
LOT FILL PER TH	RY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED AS IE GRADING PLAN, INCLUDES EXCAVATION, HAULING, PLACING, ILY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	6000	\$2.00	\$12,000.00	\$5.50	\$33,000.00	
	T PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, LY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$50.00	\$1,300.00	\$65.00	\$1,690.00	
SWMHCA SPECI	MAINTENANCE & REMOVAL OF STABILIZED CONSTRUCTION EXIT, FICATION NO. 4711, (TO BE USED ONLY AT THE DIRECTION OF COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$500.00	\$500.00	
FENCE SWMHCA	MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC SPECIFICATIONS NO.4311, (TO BE USED ONLY AS DIRECTED BY COMPLETE IN PLACE	LF	3900	\$2.20	\$8,580.00	\$1.50	\$5,850.00	
6 PERMIT FEE AS I	REQUIRED BY CITY OF IOWA COLONY, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$25,500.00	\$25,500.00	
	POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING OOKLET, NOI AND NOT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	
8 CEMENT STABILI COMPLETE IN PL	ZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), ACE	СҮ	500	\$40.00	\$20,000.00	\$12.00	\$6,000.00	
TRANSFER GUID	SING TO INCLUDE TEMPORARY WOOD MATS PER ENERGY ELINES AND CROSSING AGREEMENT, INCLUDES COORDINATION COMPANY, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$8,500.00	\$8,500.00	
CALDWELL CROSSING	SECTION 6 WS&D MISCELLANEOUS ITEMS SUBTOTAL:				\$70,496.00		\$94,856.00	
CALDWELL CROSSING	SECTION 6 PAVING AND APPURTENANCES IMPROVEMENT ITEM	s						
1 6" REINFORCED	CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10250	\$54.90	\$562,725.00	\$53.00	\$543,250.00	
2 6" REINFORCED	CONCRETE CURB, COMPLETE IN PLACE	LF	2230	\$4.80	\$10,704.00	\$4.25	\$9,477.50	
3 4" X 12" REINFOF	RCED CONCRETE CURB, COMPLETE IN PLACE	LF	3880	\$4.80	\$18,624.00	\$4.25	\$16,490.00	
	ED SUBGRADE, INCLUDES COMPACTION TO 95% STANDARD ITY, COMPLETE IN PLACE	SY	10925	\$4.00	\$43,700.00	\$4.15	\$45,338.75	
	RADE PREPARATION (7% BY WEIGHT, 48 LBS/SY), AS REQUIRED IONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE	TON	262	\$400.00	\$104,800.00	\$335.00	\$87,770.00	

BID TABULATION FOR:		TC BF	D SERVE CALDWELL C RAZORIA COUNTY MUN		CT NO. 87	ES & PAVING AND APPURT	TENANCES
BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE:		AF LJ C.	PRIL 23, 2024 IA ENGINEERING, INC. DURHAM PRIL 23, 2024				
LJA JOB NO.			931-8156A&B (9.2)				
		4	) BLAZEY CONSTRUCT	TION SERVICES LLC	5) PRECISE SER	VICES, INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
6 COMMON ROADWAY EXCAVATION TO BE USED FOR ONSITE ROADWAY, LOT FILL AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	6950	\$9.60	\$66,720.00	\$5.50	\$38,225.00	InC.
7 TYPE 7 ADA WHEELCHAIR RAMPS, PER REGULATORY AGENCY REQUIREMENTS, INCLUDES LANDIND AT THE TOP OF RAMP AND REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	10	\$1,900.00	\$19,000.00	\$1,550.00	\$15,500.00	
8 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$7,100.00	\$7,100.00	\$8,600.00	\$8,600.00	3
9 FINAL LOT GRADING, INCLUDING RESERVES, STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	64	\$190.00	\$12,160.00	\$230.00	\$14,720.00	
10 REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	2	\$320.00	\$640.00	\$100.00	\$200.00	
11 INSTALL TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,550.00	\$1,550.00	\$1,300.00	\$1,300.00	
12 6" PVC IRRIGATION SLEEVE, PLACED UNDER THE PAVEMENT FOR FUTURE IRRIGATION, AS DIRECTED BY OWNER OR OWNER, COMPLETE IN PLACE	LF	350	\$38.00	\$13,300.00	\$45.00	\$15,750.00	
13 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	28	\$32.00	\$896.00	\$20.00	\$560.00	
14 HYDRO-MULCH SEEDING OF RIGHT-OF-WAYS AND MEDIANS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	4	\$2,400.00	\$9,600.00	\$2,400.00	\$9,600.00	
15 BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	13	\$900.00	\$11,700.00	\$1,200.00	\$15,600.00	
CALDWELL CROSSING SECTION 6 PAVING AND APPURTENANCES IMPROVEMENT ITEMS				\$883,219.00		\$822,381.25	
CALDWELL CROSSING SECTION 6 PAVING MISCELLANEOUS ITEMS 1 METHOD "A" PAVING CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P.	LS	1	¢5 066 00	¢5 066 00	\$E 066 00	¢5 266 00	
(CONTACT JON BORDOVSKY AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$5,266.00	\$5,266.00	\$5,266.00	\$5,266.00	
2 INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, STAGE I (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$50.00	\$1,300.00	\$65.00	\$1,690.00	
3 INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE (BACK OF CURB) SWMHGA SPECIFICATIONS NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6005	\$2.20	\$13,211.00	\$1.50	\$9,007.50	
4 INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	
5 5' REINFORCED CONCRETE SIDEWALK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2230	\$49.00	\$109,270.00	\$52.00	\$115,960.00	
6 FINAL LOT GRADING AS-BUILT SURVEYS TO VERIFY LOT GRADING DETAIL. SEE LOT GRADING DETAIL ON SHEET 10 OF 26 OF CONSTRUCTION PLAN, COMPLETE IN PLACE	LS	1	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	
7 PERMIT FEE AS REQUIRED BY CITY OF IOWA COLONY, COMPLETE IN PLACE	LS	1	\$14,000.00	\$14,000.00	\$11,000.00	\$11,000.00	
CALDWELL CROSSING SECTION 6 PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$147,347.00		\$146,323.50	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY:				TO SEI BRAZC CITY O APRIL	RVE CALDWELL C DRIA COUNTY MUN F IOWA COLONY, 23, 2024 IGINEERING, INC.	WATER, SANITARY SEW ROSSING SECTION 6 NICIPAL UTILITY DISTRICT BRAZORIA COUNTY, TEX	NO. 87	TIES & PAVING AND APPURT	ENANCES
TABULATION DATE: LJA JOB NO.				APRIL	23, 2024 156A&B (9.2)				
LJA JOB NO.						ION SERVICES LLC	5) PRECISE SEI	RVICES INC	
ITEM	DESCRIPTION	UNIT C	TY	,	INIT COST	TOTAL COST	UNIT COST	TOTAL COST	
ALTERNATE BID ITEMS NO. 1									
1 ADDITIONAL COST TO ACHIEV WITHIN 70 DAYS AND TO ACHIE WITHIN 90 DAYS PER THE SPE AWARDED ALTERNATE BID NO OWNER IN THE AMOUNT OF \$2	E SUBSTANTIAL COMPLETION OF BASE BID WORK EVE FINAL COMPLETION OF BASE BID WORK CIAL CONDITIONS OF THE CONTRACT, IF . 1, THE CONTRACTOR SHALL BE LIABLE TO .500.00/DAY FOR EACH DAY THE CONTRACTOR IS NCT SUBSTANTIAL COMPLETION, AS ADJUSTED BY LETE IN PLACE	LS	1		\$110,000.00	\$110,000.00	\$96,790.00	\$96,790.00	Inc.
ALTERNATE BID ITEMS NO. 1 SUBTO	TAL:					\$110,000.00		\$96,790.00	
ALTERNATE BID ITEMS NO. 2									
WITHIN 55 DAYS AND TO ACHIE WITHIN 75 DAYS PER THE SPE AWARDED ALTERNATE BID NO OWNER IN THE AMOUNT OF \$5	E SUBSTANTIAL COMPLETION OF BASE BID WORK EVE FINAL COMPLETION OF BASE BID WORK CIAL CONDITIONS OF THE CONTRACT, IF 2, THE CONTRACTOR SHALL BE LIABLE TO ,000.00/DAY FOR EACH DAY THE CONTRACTOR IS ACT SUBSTANTIAL COMPLETION, AS ADJUSTED BY LETE IN PLACE	LS	1		\$250,000.00	\$250,000.00	\$172,890.00	\$172.890.00	
ALTERNATE BID ITEMS NO. 2 SUBTO	TAL:					\$250,000.00		\$172,890.00	
BIDDING SUMMARY									
SUBTOTAL CALDWELL CROSSING SE	CTION 6 WATER SYSTEM ITEMS					\$212,028.82		\$283,877.00	
SUBTOTAL CALDWELL CROSSING SE	ECTION 6 SANITARY SEWER SYSTEM ITEMS					\$315,765.50		\$395,169.00	
SUBTOTAL CALDWELL CROSSING SE	ECTION 6 DRAINAGE FACILITIES ITEMS					\$655,401.34		\$840,459.00	
SUBTOTAL CALDWELL CROSSING SE	ECTION 6 WS&D MISCELLANEOUS ITEMS					\$70,496.00		\$94,856.00	
SUBTOTAL CALDWELL CROSSING SE	ECTION 6 PAVING AND APPURTENANCES IMPROVEN	IENT ITEMS				\$883,219.00		\$822,381.25	
SUBTOTAL CALDWELL CROSSING SE	ECTION 6 PAVING MISCELLANEOUS ITEMS					\$147,347.00		\$146,323.50	
TOTAL AMOUNT BASE BID						\$2,284,257.66 *		\$2,583,065.75 *	
ALTERNATE BID NO. 1									
TOTAL AMOUNT BASE BID						\$2,284,257.66		\$2,583,065.75	
ALTERNATE BID ITEMS NO. 1 SUBTO						\$110,000.00		\$96,790.00	
TOTAL AMOUNT BID INCLUDING ALTI	ERNATE BID NO. 1					\$2,394,257.66 *		\$2,679,855.75 *	
ALTERNATE BID NO. 2									
TOTAL AMOUNT BASE BID						\$2,284,257.66		\$2,583,065.75	
ALTERNATE BID ITEMS NO. 2 SUBTO						\$250,000.00		\$172,890.00	
TOTAL AMOUNT BID INCLUDING ALTI	EKNALE BIU NO. 1					\$2,534,257.66 *		\$2,755,955.75 *	